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ABSTRACT

A computer program for stem analysis has been prepared by using BASIC language. Annualring counts
and other input data can be directly entered for necessary calculation, and outputs are data lists, cross-section
areas, age-height relationships, growth rates, total, annual, and mean increments of height, D.B.H. and volume
for an individual tree. The sectional log volumes are calculated by Huber’s formula, and the growth rates by

Pressler’s in this program, A copy of the program listing is in appendix I.
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Table 1. Data lists

No. AGE ANNUAL—RING COUNTS
1 o4 16.1 11.3 9.8 116
1 34 155 105 9.1 11
1 30 14 9.6 81 103
1 25 115 7.7 7.1 9
1 20 8.1 6 5.7 71
1 15 4.2 3.8 3.2 41
1 10 2.3 2.2 2.1 23
1 5 1 9 1.1 8

Table 2. Cross-section area calculation

No. AGE SUN MEAN DIA. CROSS AR.
1 34 48.8 12.2 24.4 .0468
1 34 46.1 11.53 23.05 .0417
1 30 42 105 21 .0346
1 25 353 8.83 17.65 .0245
1 20 26.9 6.73 1345 .0142
1 15 153 3.83 7.65 4.6E-03
1 10 8.9 2.22 445 1.6E-03
1 5 38 .95 1.9 3E 04
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Table 3. Sum of log volume

Table 6. Volume growth

AGE M-STEM TOP STUMP TOTAL

5 0 0 1E-04 1E-04

10 29E-03 0 TE-04 3.6E-03

15 .0113 0 2.1E03  .0134

20 .035 0 6.6E-03  .0415

25 .0628 0 .0113 .0741

30 .0944 0 .016 .1104

34 .1149 0 .0192 .1341

34 .1346 1E-04 .0216 .1562

Table 4. Height growth

AGE TOTAL C.A.I. M.A.1. GROWTH%

5 1.87 .67 .37 18.87

10 52 .47 .52 7.33

15 7.53 .33 .5 3.98

20 9.2 .47 .46 4.5

25 11.53 17 .46 1.38

30 12.37 11 .41 .95

34 128 .38

Table 5. Diameter growth at D.B.H.

AGE TOTAL C.A.I. M.A.l. GROWTH%
5 1.45 -43 .29 17.03

10 36 .5 .36 10.31

15 6.1 .15 .41 9.4

20 9.85 .63 -49 551

25 13 .45 .52 319

g 15.25 -3 .51 2.08
34 16.45 .48

34B 17.7 .52

BRANE RoFond ANEHA Akl glertE
oha REEE W o8 4 gtk kK 19 FEHEA 9
sled RS BERS AHT BRE & 29 o,
o7l 4@ FRAUEMES, PR ®H
Blem), BERE(m®D) HEMHRSL vebd ok

# 3 BRESHMR, HEADHE, HEME 2 &
MBS 3tET ERols, X z2ale 528 of

M.AI. GROWTH#%

AGE TOTAL C.AL
5 1E-04 TE-04 0 37.18
10 36E-03 2E-03 4E-04 23.13
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25 .0741 7.2E-03 3E-03 7.85
30 1104 5.9E-03 3.7E-03 5.35
34 -1341 3.9E-03
34B  .1562 4.6E-03
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Appendix J. Stem analysis program listing

i PRE 1: POKE 1437,52 410 NEfT 1

2 PRINT CHRS (13); 840 NPT "............CORRECT?(Y/N}":B$

T PRINT CHR$ (27)3%0%; 450 PRINT : PRINT

4 PRINT CHR$ (27);'@%; CHR® (52) 450 IF B$ € ) "N" THEN 520

= PRINT CHR$ (27);*N"; CHR$ (24) 470 RESTORE

¢ LIST 480 FOR I =1 TDHD

10 HOME 430 READ DH(D)

20 PRINT SO0 NEYT I

0 PRINT * FHEEH EREERHEEEE" sie 60T 370

4 PRINT " + STEN ANALYSIS #* 520 DATA 0.2,1.2,3.2,5.2,7.2,9.2,11.%,13.2,

S0 PRINT * P N e 15.2,17.7,19.2,21.2,23. 2,28, 3, 7. 2 Jel2

56 PRINT ® BY CHO £, 1.2
o, 530 FRINT : PRINT

70 FRINT : PRINT : PRINT 540 GOSUR 1050

80 INPUT "SAMPLE TREE N0.= *;57 S50 GOSUE 1330

90 PRINT : PRINT : FRINT S60 OSUB 1790

100 INPUT “1.HOW MANY DISKS?.....ovsunrus'3H 570 0SUB 1920

b 530 GOSUR 2270

10 INPUT *2,AGE INTERVALS ON DISK NO.L.=":A 596 GOSUB 3140
! 00 505UB 3350

126 INPUT “3.TREE #6E...... rerreeae LT 10 GOSUR 3590
4 620 GOSUB 3850

130 INPUT "4, TOTAL HEIBHT....... cerenas =T 30 HOME
H 540 PRINT : PRINT : PRINT : PRINT

140 HOME 550 INVERSE

150 PRINT : PRINT : PRINT 640 PRINT TAB{ 4)*==T0 SEE {MENUY PRESS ANY

150 INVERSE : PRINT *INPUT RING-COUNT DATA," KEY'==*: NORNAL : GET T$: BOTO 70
: NORWAL 70 HOME

170 PRINT 690 FRINT : PRINT : PRINT : PRINT

180 PRINT "STARTING AT DISK NO.1(0,2M)" 590 PRINT TAB{ 14)*===MENU==="

130 PRINT : FRINT : PRINT 700 PRINT : PRINT

200 DIM A{HD,AT,4) ,SUM(HD, AL} MEAN(HD,AD) DY 710 PRINT TAB{ 10)*NHICH DO YOU WANT™*
i#D, A1) BA(HD, ALY HE(TAY, DR(TH) ,RD{TA) |AD 720 PRINT TAR( 10)°------mmmmmmommomee .
7a!,BSUM(AT) |CSUR (HD) ,DSLMIAT) | ESUM (HD) 720 PRINT TABY 10)*<0)DATA LIST*

210 DIM CHITA),MHITA) BH{TA) VL(QI‘SHT(AI).B 740 PRINT TAB( £0)*{1R.A. CALCULATON"
TIRLI VTIRTT HUGALS BUCAT], VUTATS,6B1AT], 750 PRINT TAB( 10)"<23AGE/HEIGHT"
HSUMTATT VS(ATY,B01AT), ISUNCAT) VE(AD),TT 760 RINT TAB( 10)°<I:SUM OF LOB VOLUME®
(AL, TVAD), v tATT CD(ATY MD(ATT 6D (AT ,C 770 PRINT TAB{ 10)*<{4 HEIGHT GRONTH*
YIALY MV (AT] BY (RIS 780 PRINT TAB{ 10)*<S:DIAMETER BROWTH®

o OFOR L =1 70 HD 79¢ PRINT TAB! 10)*{A3OLUNE GROMTH*
FOR J =1 704l P00 PRINT TAB{ 10)°<7)REENTER DATA®
RINT I3"-":) BiS FRINT TAB{ {0)"-mmmommommoormmeeae .
S0 INPUT "RCOUNT #1-4= *38(1,3,1),A(1,0,2), B20 INPUT "vevrvinvnerenes SELECT NUMBER= *;D
5(1,1,21,A(1,1,8)

240 NEXT ) B3¢ IF D ¥ 7 THEN 820

270 INBUT ... et LORRECT?{Y/N) 840 FRINT : PRINT :
it 850 INPUT *DO YDU NEED PRINTERT(Y/N)*;E$

290 IF CF = *N* THEN 230 B0 IF E$ ¢ o "N® THEN FPRE 1

290 NEXT 1 70 FRINT

00 HOME ¢ PRINT : PRINT : PRINT B30 PRINT "SAMPLE TREE NO.= *iGT

I10  INVERSE : PRINT "PLEASE,*: NORMAL BSG IF D = 0 THEN GOSUB 1040: BOTO 1000

PRINT "ENTER MO. OF RINSS ON DISK'" 500 IF D = 1 THEN GOSUE 1330: GOTO {000
PRINT ¢ FRINT : PRINT 910 IF D = 2 THEN GEOSUR 1910: BOTO 1000
! 1 T0 HD 920 IF D =7 THEN GOSUR 2150: GOTO 1000
1 ©33 IF D = 4 THEN GBOSUR J24¢: BOTO 1000
940 IF D = 5 THEN GOSUE I580: GOTO 1000
[H{HD! - ! $5¢ [F D = & THEN GOSUB IB40: BOTO 1000
i "ND.*; TAB{ &) "HEIGHT®; TAB( 14)°F 750 HOME
: ) 074 PRINT : PRINT : PRINT : PRINT
190 FOR I =1 TOHD 583 INVERSE : FRINT "TD CONTINUE TYPE {{RUN)
400 PRINT [ TAR( &)BHID *": NDRWAL
410 INPUT n- _______ :I:RD(I) 99{" IF D = 7 THEN END

420 041y = TA - RDLDY 1000 PRE O
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1016 PRINT : PRINT : PRINT

1020 INVERSE

1030 PRINT *T0 RETURN TD (MENU> PRESS ANY KE
Yi*: NORMAL : BET T$: 8070 470

1080 HOME

1056 PRINT *DATA LIST®

1080 PRINT

1070 PRINT ® -

1080 PRINT "ND.*; TAB! 5)"ABE®; TAB( 10}"...
ANNUSL-RING COUNTS...."

1090 PRINT "---

1100 BY = TA /

1110 Y = T4

120 FR1=1T

130 FRJ=1T

1180 FRINT 1; r?

]

2N

mou o
——
=

B

[y

1) TAB(

; el 30
1150 NEXT
{160 IF 1A >
1170 1= BY +
I

t
0
0
B(
7}
+J

b — N

L" - Tm raEon
g -

Al
BY 5 5 THEN 1250
e kR T -1 T0m
1190 FRINT 1; TAB( S)1; TAB( 10)A(1,],1); TAB(

AL, Bys TaBt 2hail,a,3); RN

1200 1 i -5
1210 NEXT 1
1220 FRINT *-
1230 NEAT I
1240 RETURN
1250 7= B1 % 5
1260 FOR J = 3 10 Al
1270 PRINT 13 TAB( 5)2; TAB( 10)A(1.J,1): TAB(
17[A£} J 5), Te8t 2hacr,3,3; Thel b
280t -
1290 NEXT J
300 PRINT *
(310 NEXT 1
1320 RETURN
1330 HOME
{380 INVERSE : PRINT "NAIT A MONENT''": NORMAL

1350 PRINT : PRINT : PRINT
1360 PRINT *CROSS-AREA CALCULATION®

1370 PRINT
1380 PRINT *
PRINT *ND."; TAB( 5)"AGE"; TAB( 10)"SUN
TAB{ 17) "WEAN; 1Bt DIA.*; TABY 3

13 CROSS-AR. *

1400 PRINT *-

141 FOR T =1 T0 HD

1420 FOR J =1 T0 nl

1430 FORK =170 4

LG SUNL D) = SIRCLD) & AL 1,6
1450 HEAN(i,J) = s, n

1450 TH( J)=HMH3)*2

1470 BAI,.Lw DM(T,3) 2 % 000071416 / 8
1480 NEXT K

1490 NEXT J

1500 NEXT I

1510 FOR I =1 T0 HD

1520 FORJ = 1702

1530 PRINT 1; TAB( SIBZ # 5 + ¥; TAB( 10)SUN-
(1,0t TAbL 17) INT (100 # WEAN{I, I} + 0.
51 100- TAB( 285 INT (100 * DN{I, 3y + ©

5) /1001 TABL 31y INT (10000 ad(x N+

¢.51 / 10000
1540 NEXT 4
1350 IF TA O
1560 1 = BY #
1570 FOR ] =
1380 FRINT 1

17V INT |

241 INT

EOINT o
1990 7 =1 -
1600 NEXT
1610 PRINT Mmoo
1620 NEXT I
1430 BOTC 1710
164¢ 7 = B # §
155¢ FOR § =3 70 Al
;3&? PPINT Iy TABL 5V, TAB( 10150m¢ IIJ) ThE(

71 OINT 1100 & MEAN(LJ} + 0.5 J b3 TABI

“41 INT (100 # DA{1,d] + H 3} / 100. TAB{

313 OINT 110000 # BA}I,J + 0.5) /10000
168702 =7 -3
1680 HNEXT
1630 FRINT " ---ooomeme

1700 NEXT I

{750 PRINT : FRINT

RETURN

HOME

) _ERINT “RECATIONSHIP OF DISK HEIGHT T0
1900 PRINT

{INT
INT "DISK*®; TAB({ 7)"DISK®; TAE( {3)*N

i

1830 FRINT "ND.% TABLTIHEIGHT"; ThR( 15)°

RINGS*; TAB( 27)ABE"

j240 PREN’ ittt "

1950 FOR I =1 70 HD

1850 PRgsz 1; TAB( 7VDH(I}; TAB ; TABS
LJ‘H

BTG NEYT I

1880 FRINT "--—- e

1890 FRINT : FRINT

1900 RETURN

910 HOM

3 ADIL) THEN 2030

0 HE(F =K % DHULY 1 A
49*0 FORK =10 TD BL # 5 - 5 STEF §
1970 FPF J =1 T0HD
¢ RDIJ) THEN 2000

(K - ADED - D1 % (DH{D) - DHES
QD(J‘ - ADEJ - 1)+ DHLE - 1)

[ R S ]

0o e
<
PR

' THEN 2070

CE - AD{J - 13y # (DHQJ) - DHUJ
DIy - ADLJ - 130} 4 DHU - D)

Loy

Sk v 1
3070 HELK) =

J_sA

{
WBO K = !’ + 5
2090 NEXT I
00K =RL * §

2110 IF K < ADCHD) THEN 2140
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220 HEQO = ({K - AD(HD - 1)) & (DHIHD) - DH 2750 FOR T =2 70 HD

(HD - 1)) / (ADIHDY - ADIHD - 1131 + DHIN 2760 BT(D = BACI,IY # HT() / (8 - (N - 3}
D-1) FTT6 VTUE) = HT(D) + BT / 3
2116 BOTO 2150 2780 NEXT 1
2140 HECKY = ((K - AD(HDY) ¥ (TH - DH(HD}} / 2790 PRINT K; TAB(L 73 INT (10000 ¥ HT(J) + 0

{Th - AD(HD})I + DHI(HD) -.5) 7 10000; TAB! 15) INT {10000 + BT(J) +
2050 PRINT *ABE/HEIGHT RELATIONSHIP® 8.5) / 106003 TAB( 23} INT (10000 # VT())
21E0 PRINT ¥ 0.5 7 10hoo
2070 PRINT P-moemmm oo . 00K =K+3
2180 PFINT 'ABE' TAR( 10} "HEIGHT® 2910 NEXT I
7490 PRINT memmmlemememe . 820 F = 1.2
2200 FORY =570 TASTER § 030 FOR I =270 1 STEP -1
2210 PRINT ¥; TAB( 18) INT (100 ¥ HE(K) + 0, 2840 IF TH - F ¢ 1 THEN 2840

5 /190 2850 F = £ + 2: 0T 2840
2220 NET K 28K0 HUID) = TH - (F - 1)

K . 7870 BU{J) = BA(HD,
2280 PRINT : PRINT 28B0 VU{3} = BA{HD J FHULD 7 D
7050 RETURN 3890 PRINT TA; TAB( 7) INT (10000 % HU(J) +
7150 HOME 0.5) J 10000; TAB( 15) INT {10000 ® BU(J)
7276 PRINT *M-STER YOLUME® 5 0.5) / 100003 TABL 23) INT (10000 + Vi
2280 PRINT {3 + 0.9/ 10000
2250 PRINT * . 2900 NEXT 3
2300 PRINT "ABE*; TAB( 7)*CROSS-AR."; TAB{ 1 2910 PRINT *--~-- - .
53 YQLUME" 7920 PRINT : FRINT
220 PRINT S-mmmmm e m oo maee . 2930 PRINT *VDLUME OF STUNP®
TN K = 5 2946 FRINT
2330 FOR J = ALTO TETEP - § 2950 PRINT * .
2780 9 = HE(K) 2960 PRINT "AGE"; TAB( 7)*CROSS-AR®; TABY( 15
2350 IF TA = K THEN § = TH FeUDLUNE®
2350 F=1,0 2970 PRINT *--mmmemmm oo cmmmnne .
2170 IF 5 - F ¢ ! THEN 2390 2980 K = 5
ZIBOF =F + 2: EGTB 2270 2990 FOR J = AL 7O J STEP - 1
2390 HE = (F + 0,8) / 2 3000 GBLJ) = 1.7 4 BA(1,d) + 0.2 % BA(Z,D)
MO0 FOR 1 =170 WK 3010 HSUN{J} = BA(1,3) + BB(I)
2410 BSUM(J) = BSUM{J) + BA(I,D I020 VS(I) = HSUM(JY # 6.7
2420 DSUNGI) = BSUN(J) - BA(L,D) *0’0 PRINT K; TAB( 7) INT (10000 # HSUN(]) +
2430 VL{) = DSUM(IY * 2 5t/ 100005 TABL 15) INT (10000 * VS(J)
2480 NEXT I % “0.5) 7 10000
2450 FRINT K; TABL 7) INT (10000 » DSUM(J) + MK = F 45
0.5) / 10b00; TAE { 15) INT (10000 # VLID) 050 NEXT J
10,507 1000 1060 FOR J =2 10 1 STEP - 1
MEO K = K+ § 3070 6C01) = 1.2 & BA(L,J) + o 2 & BA(2,))
2470 NEYT 2 7080 ISUN(J) = BALL,J) + BC(J
2A80 FOR 3 =2 701 STEP - ¢ 1090 VI(I) = ISUMJY % 0.2
TG F = 1,2 T100  PRINT TA; TAB( 73 INT (10000 # ISUMID)
¢ IF TH - F {1 THEN 2520 8.5) / 10000: TABC 15) INT (10000 # vZ(J>
EGF = F + 2 BDTD 2500 £ 0.5 7 10boe
TEHL = (F + 0.8) /2 10 NEXT 3
/30 FOR T = 1 T0 HL ST | L — .
2940 CSUMT) = CSUMCDY + BA(L D) T30 PRINT & FRINT
2550 ESUM(IY = CSUM(T) - BA(1,d) I140  RETURN
2560 VK(J) = ESUM(J) 3 2 1150 HOME
370 NEYT 1160 PRINT *SUM OF LOG VOLUME®
2580 FRINT TA; TAR( 7 INT (16000 * ESUNID) + 1170 FRINT
8.5) 7 10000; TABL 15) INT {10000 * VK(J) I1B0 PRINT * ——
o5 /b e .
290 NEIT B 195 PRINT *ABE’; TAB( 7)*N-STEN'; TAR( 151
2408 PRINT "=mmmmmmm o memm e . TOF®; TAB{ 23)*STUNF™; TAB( 71} *TQTAL"
2510 PRINT @ PRINT 1200 PR!NT B e
2i20 PFRINT *UDLUME OF TOP LOB* e--e-
2173 PRINT 10K =5
H 120 FOR 4 = AL T0 I STEP - 1
2650 PRINT *AGE"; TAB! 7)*HEIGHT"; I2I0 TTUIY = VLG & VTLD + Y5(D)

"BASE AR.7: TAB( 27)*UCLUME® I240 PRINT Ki TAB( 7} INT {10000 » VLID) + 0
5hh0 PRINT ool e e (51 7 10000; TAB( 15) INT (10000 # ¥T(J) +
76N = 1.7 8,50 7 100003 TAB( 23} INT (10000 » VS(])
2480 Y = 5 + 0.5) 7 10000; TAB(L 21) INT (10006 4 T7
2590 FOR J = A1 7O I STEP - 1 13y + 0.51 / 10900
2700 5 = HEIK) WK=K+
2710 IFTA=K THEN G = TH 140 NEYT 2
3770 IF S - N ¢ 0 THEN 2740 1270 FOR J = 2 TO 1 STER - |
2710 N = N + 2: BOTD 2720 280 TV = VEC(D)Y + WUy + V2D
T80 HT(IY = 5 - (N ~ 2 7”90 FRINT T4: TAE! TV OINT (10000 & VK(J) +
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/100003 TAB{ 15} INT {10000 * VU{J)

10600; TAR{ 23) INT (10000 3 V1
Y/ 100003 TAB( 313 INT (10000 #
.30/ 10000

(%)

3320 PRINT : PRINT

T80 HONE
1350 PRINT "HEIGHT GRONTH"
1340 PRINT

3380 PRINT “ABE"; TAB( T)"TODTAL®; TABI 15)"C
i@.l,'; TAB{ éS)'H.A.I.'; TAB{ 31)"GRONTH

1390 PRINT *

J400 FORK =35 TDBL #35-5STEP S

3410 CHIK) = (HE(K + §) - HEIK)} / §

1420 MHIK) = HE(K) / K

I430 GHIK) = (HE(K + 5} - HE{K)} /7 (HE(K + 5}
+ HE(K)Y 2 &0

3440 PRINT K; TAB( 7) INT (100 # HE(K) + 0.5

) 7 100; TABU 15) INT (100 * CH(K) + 0.5}
/ 100: TAB( 23) INT {100 * MH(K} + 0.3) /

1003 TAB{ 31) INT {100 # GH{K) + 0.5) / |
)

o

3450 NEXT K

TG0 [ = BL 4 5

470 IF TA > 1 THEN 1500

3480 PRINT TA: TAB( 7)TH: TAB{ 23) INT (100 #
TH/ TA + 0.5 / 100

3490 BOTO 3540

3500 CX = ITH - HECD)) 7 (TA - D)

3510 WX = HE(D / 1

3520(¥§ = {}H - HE(D)] / (TH + HE(I)) # 220 /

3530 PRINT I; TAB( 7) INT (100 % HE(I) + 0.5
;7 1003 YABI 15) INT (100 # CX + 0.5) /
{00; TAB( 23) INT (100 & MY + 0.5) / 100
aB( 71) INT (100 % BX + 0.5} / 100

3540 PRINT Th; TAB( 79TH: TAB{ 23) INT (100
(TH 7 TA) ¥ 0.51 / 10}

1350 PRINT * — --

3560 PRINT @ PRINT

3570 RETURN

1580 HOME

590 PRINT *DIAMETER GRONTH AT D.B.H.®

600 PRINT

613 PRINT "---

1520 PRINT "AGE*; TAB( 7)°TOTAL®: TAB{ 15)°C

A.1.*; TAB( 231"M.A.L"; TABL 31)*GRONTH

[T TR )

i
630 PRINT *----mmmmoommmv --

L

40 1 = 5

3650 FOR J = A TD I STEP - i

3660 CDUI3 = (DM(2,3 - 1) - DM(2,01% / §

3670 MD(I) = DH(2,d) /1

T80 BDI) = (DM(R,0 - 11 - DMI2,3)) 7 (IMi2,
J- 1)+ D200 ¢ &

1690 PRINT I3 TABU 70 INT (100 # IM(2,0) + D
J5) /1004 TABL 15) INT (100 # CDL) + 0,
S) 7 100; TABL 230 INT (100 % MD(J) + u.5
} 7 100; TABL 31) INT (100  BD(I) + 0.5)

/100

61 =1+ 5

1710 IF 1 = BY * 5 THEN 2730

720 NEXT )

170 IF TA > 1 THEN 3750

1780 8010 3790

1750 CY = (DH{2,2) - DN(2,3)) 7 (TA - 1)

WEOMY =DM, B e

7770 BY = (DH(3 21 - DNG2, 300 7 (DMZ,2) + DN
2,2 #2207 A - b

1780 PRINT 1; TABI 7) INT (100 & DM{2,3) + 0
,5) 7 1003 TABL 15) INT (100 # CY + 0.5 /
100; TABU'23) INT (10D + MY + 0.5) / 1003
AR I0) INT (100 % BY 4 0.5) / 100

1790 PRINT TA; TAB( 7) INT (100 % DN(2,2) +
9,50 / 1003 TAB( 231 INT (100 » DM(2,2) /
Th+ 0.5 7 100

IBGG PRINT TA;*B': TAB( 7) INT {100 % DM(Z,!
v+ 0,50 7' 100; TAB( 23) INT (100 * DM(3
1 TA 4 0.5 7 100

1810 PRINT *---mv - -

1820 PRINT : PRINT

330 RETURM

1980 HONE

7950 PRINT *VOLUNE GRONTH®

7850 PRINT

1870 PRINT "-

1880 PRINT *AGE*; TAB( 7)"TOTAL®; TAB( 15)°C
ALy TAB S3ma.17; TABT 31)"GRONTH

1890 FRINT * . .

01 =5

1910 FOR J = A1 70 4 STEP -1
BN =T -1 - TN /1 5
3930 MV =TT /1
90 BV = (TT - 1 - TTUN 7 (T - )
+ TTLY » 40
I950 FRINT Iy TABC T) INT (10000 # TT{J} + 0
L5Y 7 10000; TAB( 15) INT (10000 % CV(d) +
0.5) 7 10000; TARC23) INT (10000 + WY (1)
+0.5) 7 10000; TABL 311 INT (100 # GV(J
LR U AR L
T=1+3
EXT &
I =B +3
5 IF TA > 1 THEN 4050
4000 LU = {TV(D) -~ TT(3N) / 3

4640 KL = THI) /U - 5)
3020 BU = (TV(D) - TT(3)) / (T9(2) + THI)) #

4
4030 PRINT % - 5; TAB( 7) INT (10000 # TT(3)

c
+ U3

16000; TAB( 15) INT {10000 # CU
10000; TABL 233 INT {10000 ¥ MU
1000¢; TABU 213 INT {100 # BU +

T /1
(TYIZ) - TT(INY 7 ATWC2E + TT(3N ¢

AR 1

4030 PRINT 1; TABL{ 7) INT (10000 ® TT(3} +
N lﬂﬂbﬂ; TAB( 150 INT (10000 * C1 +
L5 7 10000; TABL 23) INT (10000 * WI +
g ! 39006; TAB{ 21} INT {100 # 67 + O,
A L¢

4090 PRINT TA: TARC 7% INT (10000 # TV(D) +
0.5) 7 10000; TAR! 27} INT (10000 & TVID)
FTA O+ 0.5) 7 10000

410C PRINT TA;*BE®; TAB( 73 INT (10000 # TV]
P4 0,50 /7100005 TAB( 231 INT (10000 # T
VI TR+ 0,37 10000

4120 RETURN



